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General Instructions :

1. The question paper is divided into four sections.

2. There are 35 questions in all . All questions are compulsory.

3. Section A includes question No. 1-16 . They are objective type questions .

4. Section B includes question No. 17-25 . They are very short answer type questions carrying 2 marks each .
Answer each question in maximum 30 words.

5. Section Cincludes question No. 26 - 32 .They are short answer type questions carrying 4 marks each . Answer

each question in maximum 80 words. Question numbers 26 — 27 are case based questions carrying 4 parts of 1
mark each, making a total of 4 marks.



6. Section D includes question No. 33 - 35 . They are long answer type questions carrying 6 marks each . Answer

each question in maximum 200 words.Question no. 35 is to answered with the help of given passage.

gus [#F]
SECTION A
Rea T
Fill in the blanks
1 F U digfas snelesr S agdl aaredt ¥ ifaer ant va srconred! eraredr A
oelT, FROT 3R gfFaare W aer &ar B
(F) HRT FT 369 (@) T (1) wafew () (T FT 35T

an European intellectual movement of the late 17" and 18th centuries,

emphasised reason and individualism.
(a) Rise of India (b) The Enlightenment (c) Sarvodaya (d) Rise of Europe

2 | wie Reae ,(1789-1857) =i f& WA T FATIH WHST ATl §, F1 feamw
o1 & AT AT Fedor H ARG FE |
() ufae g@la (@) #AFW AW @ shfeamw () 3T Hid
The French scholar (1789-1857), considered to be the founder of sociology, believed
that sociology would contribute to the welfare of humanity.
(a) Emile Durkheim  (b) Max Weber (c) Srinivas (d) Auguste Comte

3 | Ay Sshaa Y v qienRs RAvar sad S Fr A § -
(F) FIT RER 3afram e (@) Warg e ¥

(1) WHTTSF WERFAT T AT § () AT TFR 3e:frar adt e §

Which of the following is not a defining feature of human life

(a) humans interact (b) communicate
(c) construct social collectivities (d) humans do not interact

4A R o #1 TAEsT AT ¥ N F FHT A F @ T W 0T @ § AT v qay @
g AT Faw 7d @A)
(%) wHA=ET (@) wrIfAE |IE (M SfRdEE wiE ()37 WHE

are simply collections of people who are in the same place at the same time, but
share no definite connection with one another.

(a) Aggregates (b) primary group (c) secondary group (d) In-Groups
OR
4B | T&H UF FACaT HYAT WA grar g, Forwd WIEar ryar s fr wA gl 8, 3 e
T g & Hi¥ded F id AN A7 FA I0F* g 8
(F) WAAF FHE (@) CfEdEE Hg () A WAE (=) 3% wE
A is an aggregate or combination, which lacks structure or organisation, and whose

members may be unaware, or less aware, of the existence of groupings.
(a) primary group (b) secondary group (c) In-Groups (d) quasi group

AT AT I FYA FH § 91 I9@d
State whether the given statement is true or false

5 | oufAs @ @ dc9d Wl F 0F O §HE @ @ S afass, amHEa-uea & A9-fAend sk gedhr gan
3 BT B

Primary group is used to refer to a small group of people connected by intimate and face-to-face
association and co-operation.




et off o & oot & fAw gotem ¥ g wogg o1 € et @ arve ameet Ay v dwa § 3R I
N g e §1 F wHE e Shaer Aot 1 srgaor frar Srar ¥, Wot W weona ¥

For any group of people there are always other groups whom they look up to and aspire to be like. The
groups whose lifestyles are emulated are known as Reference groups .

AT FEAE TsT T @ ged A1 INAX i @@F o9 & qFd 5l

Social institutions could be ‘macro’ like the state or ‘micro’ ones like the family.

HEATIHT Y 99 A 67 & T & J& @1 S Fhar B
An institution cannot be viewed as an end in itself.

qRaR 3R 4o teaReE e e & 3eE’or §)

Institutions such as family and religion are examples of informal social institutions.

10

yHraETedl # IER fraa aRar 1 sigfs garer i sraegsad g FA il vE gatae
U 9T SFE & T 3§ 3@ o1ar B

The extended family is seen as the unit best equipped to handle the demands of industrial society by the
functionalists.

3 T FYT Y T F |

Correct the given statement

11A

YT WHATSS AT 3 FaF Y GFPfa w1 w78 et 8

Every social organisation does not develops a culture of its own.

OR

11B

Afoetaeh & goma far a1 B gw AT Branet A qeas A& R v et # awe dwa ¢

Malinowski suggested that we look at human actions in the same way as we look at words in a book.

12

WIER FT HGY AT F §, HI qTa@aor § Irod g arell FAEA AT FT &7 HH ITANT FI 8
Literate refers to understanding, how we make sense of all the information coming to us from our
environment.

13

e warel # dawad ar Sefaat e v & wd §

In non-literate societies legend or lore remain in written form.

14

Ags ¥ove fd § Safd Fe svase e §)

While norms are explicit rules, laws are implicit rules.

15

FIA WHER @R w91 Rgua § & # oRenfia selvafs gl § Sas aeoe aeia &
T HIAT AR
A law is a informal sanction defined by government as a rule or principle that its citizens must follow.

16

FEAE F AT A FEFiaF Hedl F1 3T FEFfaal & del & TagR adr Jearst F1 Jeaidpa
A F T v w6 & 7

Centrism is the application of one’s own cultural values in evaluating the behaviour and beliefs of
people from other cultures.

s [F]
SECTION B

17A

HRAT STARRT F G g F HRT 41T |

Give reasons for the ruin of Indian handicraftsmen .

OR

17B

FARe vd gffe gATSET # Ay FTo5¢ &Y |
Explain the difference between macro and micro sociology.

18

aETfoF @ 3R Iy @ F H Fam |

Distinguish between social group and Quasi group.

19A

Raae & 39 1 AT § ?

What do you understand by deviance ?

OR

198

sffe Rudevor & 3T F4r wASd § ?




What do you understand by Role stereotyping ?

20 | gRER Fa at§ & fead gar § |

How gendered is the family?
21A | FETH & YR W IRAR & YHR  ad10)

State the types of family on the basis of residence.

OR

21B | smyfas waATSl A srdfeaaeyr i & RAAvad qqm |

State two characteristics of the economy of modern societies.
22 | ggur F Aad § 2

How to get identity?
23 | o amyfas waAter A fAdwar 4w gt § 2

What are the characteristics of a modern society?
24 | ST AR AR Sftaa F R gER & IeH Rewm aw gH ¥ 2

How has mass media become an important part of our lives?
25 | FhT v gfadsr & R Far |

Differentiate between Law and Pattern.

gus [a]
SECTION C

26A

fArafaf@d sede #1 aier qur fAdAeER weal & W HfSd -

FATSTART AT H TIfST STGER F THSAA T YA FIAT &l g1 I dg a1 ¢ o9y gaA= &
faffiesr gait qarr safFaca #t seER @Bear &, 3qor & v, s 3k aoefas saav, sa@ aRear
IR A FEAT, IART FEFA, AAF TF {ed| IE TG FAT AT g F guied Pl srergen
¥ IS TEATT HEAAT # FATSIAET F1 Toee yeufa vd Rwa & & vnfra #@ & Iwer &, swad

3egl 37 AfFaal Y AfFaaTa Iharat 1 aET & @1 Sl ATcAgcar Y a1 3qh IseT fr | g
3 WIfeTRT 3+ & fav fFam o 39 ufFaat i ¢ awfoe RAvaEt & WWsR @dT 3
T RAweT 94 -

1 GATHARA TATH A F FASAA FT I FIAT BT 2l

(®) FEIfdT WGgR (W) WITSA cgagR () SHABR (T) gt

2 A ACHEAT & A JEATT HETAT H FATSAET Y TIs¢ qgufa oo fawy a7
TR FIA A dser # |

(®) AF@awx (@) sMfAaw (31) T AR (=) gETEH

3 9RaR e g |

(®) TS (@ s (1) FWHAITSS (&) AAfA®

4 JEaTaH 3 ¥ -

(F) I (@ fa gfdge (M Ffw (F) FH

Read the following paragraph and answer the questions as directed -

Sociology attempts to understand behaviour as it is organised in society, that is the way in which
personality is shaped by different aspects of society. For instance, economic and political

system, their family and kinship structure, their culture, norms and values. It is interesting to recall that
Durkheim who sought to establish a clear scope and method for sociology in his well-known study of
suicide left out individual intentions of those who commit or try to commit suicide in

favour of statistics concerning various social characteristics of these individuals.

Choose the correct option -

1 Sociology attempts to understand in society.

(a) Unorganized behavior (b) Organized behavior (c) Behavior (d) Trouble




2 sought to establish a clear scope and method for sociology in his well-known study of

suicide.

(a) Max Weber (b) Srinivas (c) Karl Marx (d) Durkheim
3 The family is a institution.

(a) Political (b) Economic (c) Social (d) Mental

4 Well - known means —

(a) beautiful (b) very famous  (c) more (d) less

OR

26B

farafaf@a sqede 1 aier qur AdueaR weal & s S -

AT gagR # F41 Afaw ¢ 3R 71 o, wa-uea & aifod aliel vd e IS TS F TR H
ereiffass aur enfdis faaRe srhav fAfaror F1Q @A § | FHERT 1 WER i A vd qeAt
wfar 81 AfFar swhr qET e 37 Al vd Heal @ W 37 32at W ¢ s At &t 3eqawor Fen
TRTI $HH TFR 37 aF § § OwF dead § aeafds Al & 18 FQ §) gAmel F1 anpias
YT FATSARAN & FF FT 0 3gA Rran | afpa g aa s ag ad sar adi § &
FATAATET F Al & Ui FI TWFR FET ¢1 FHHT dc9d Hdd Ig ¢ & o9 UF FATSIATE T
WA H1 HEYAA HIAT § a9 I A[APIRAT FHEST FA 3 I&T07 T F 3cqF el &, I8 I§ IHH
st g & wfager & |

1 A 71 Afas ¢ 3R 741 IS, WoA-UEd & IS adF T UF =S AT & aR
# enifas aur aifiies R e deor = @ €
(F) FAIIF TR (@) AT SqGER (M) FFFfad FAAER  (d) Toefas qaeR
2 gAE F YT FATAMRAAT & FA FT T IgA Eam &
(F) Igefaw (@) TarTfas () afd=w () ToEfas
3 = ¥ FlT - W IROT AT ¥ -
(%) faar saw FH & TR # FERRE AT
(@) T same &t &1 g e
(1) 3(E AT FA AFTAAT
() O AFd & I & g7 TFFH THT T 96d ¢ 38 TaHT QAT FY
4 9 UF FATHAUAEN TH FATS FT JEAIA FIAT § d9 d§ ATAPIRAT FheaT i IR A
F 3F BT, TR TE 3WH fSh vHg F gfoger & |
(#) wre @ wH (@M T (er) Saror

Read the following paragraph and answer the questions as directed -

Observations of philosophical and religious thinkers are often about what is moral orimmoral in
human behaviour, about the desirable way of living and about a good society. Sociology too concerns
itself with norms and values. But its focus is not on norms and values as they ought to be, as goals that
people should pursue. Its concern is with the way they function in actual societies. Empirical study of
societies is an important part of what sociologists do. This however does not mean that sociology is not
concerned with values. It only means that when a sociologist studies a society, the sociologist is willing
to observe and collect findings, even if they are not to her/his personal liking.

Choose the correct option -
1 Observations of philosophical and religious thinkers are often about what is moral or immoral in
, about the desirable way of living and about a good society.




(a) Social behaviour (b) Human behaviour (c) Cultural behaviour (d) Political behaviour

2 study of societies is an important part of what sociologists do.
(a) Empirical (b) Natural (c) Religious (d) Political

3 Which of the following conduct is moral -

(a) Taking information about anyone without being told
(b) Taking someone's belongings without being told

(c) To get the job done by lying

(d) Do so by telling the person about whom we want to collect information

4 When a sociologist studies a society, the sociologist is willing to and collect findings, even if
they are not to her/his personal liking.
(a) Think (b) Data (c) Sample (d) Observe

27A

frrafaf@a sqede A afer aur dagar weat & 39 e -

A gaATe A WMaefe w0 A, Folieor 1 I AW sgaert Al W - awar, anfa, seee 3k ae
S 9T JATAT F WA T ¢ el aaq # 3o @fFadl W gl &1 3R gar 81 3% ge-ge
T # F Frel A FUE W AGE W §, WG G T F @ W@ 3ewor § e e i Q7 qu
184t vd 194t erarfeeal #F wyFd v IANFT F ol wow | v tvmRE wEw F w0 A, a0 g
# MR- 5 ¥ 3@ T W gAR TeT sh off SET ASQ) wE S ¥, TEl a% B 3w a= o
arffier §1 $Eee WHaard IUT F RAdwar o

T RAFeT 94 -

1 AT wAT & e ¥ &, Taleor A e Jo sgawad Aleg @ § -

() = @ a @m &7 (@I

2 9T HHATAAT FT 9H T § |

(@ sfa (@ &= (M) sRe (¥) @

3 gg AfFa St fAT gU %7 F TFRA F Jqd FUEIT F AT HF FIG@T § AT Jard av ¥ -
(®) FoIg (@) @t 7SI (1) &ETd FeY (¥) 3T A
4 TF ST & W #, T 9471+ - 515 & 3@er m

(%) @TEROT (@) stgafs (M) e (a) ¥

Read the following paragraph and answer the questions as directed -

Historically four basic systems of stratification have existed in human societies: slavery, caste, estate and
class. Slavery is an extreme form of inequality in which some individuals are literally owned by others. It
has existed sporadically at many times and places, but there are two major examples of a system of
slavery; ancient Greece and Rome and the Southern States of the USA in the 18th and 19th

centuries. As a formal institution, slavery has gradually been eradicated. But we do continue to have
bonded labour, often even of children. Estates characterised feudal Europe.

Choose the correct option-

1 Historically how many basic systems of stratification have existed in human societies ?
(a) one (b) two (c) three (d) four

2 system is an extreme form of inequality.

(a) Caste (b) Slavery (c) Estate (d) Class




3 A person who does labour or renders services for the lender in return for the payment of a loan taken-
(a) Labour (b) Agricultural labour  (c) Daily wage labour  (d) Bonded labour

4Asa institution, slavery has gradually been eradicated.

(a) ordinary  (b) formal (c) special (d) big

OR

278

fArfaf@d sede #1 aier qur AAeER WAl F W HfSd -

WRE $Ra #, Affes snfaat awfos Assar &1 aftwa qard 8 snfa @v=en & 93 Ty g@d
¥ Fay A guhr ey A1 I9fATar & ganr R a1l swE I IF feaww o1 R QiR snfer
et 81 RRera sqaeyr F AT SEA, &R, 27 AR g F 9) 9ot F w7 F dwfoua R
AT ¥ AIRARHAT A AN - R FARAT ST TAF S § e iy Fer S #

e e I+ -

1 WRETT 9Rd #, R snfaat awfos Ssaar &t gardr ot

(®) &F (@) Fg=T () fawa (&) S9TE

2 TEAT # AT TUT q@ F FEY F gHh Yeuar a1 J9fdTar & ganr afenia am
(%) snfar (@ Tt () s () &

3 gof & enfegw ard g1

(F) =g (@ ger @@ () g&

4 'qrEg Sfa’ et &Y gr I4qT -

(%) smEATT (@) &g (1) 7 CREL]

Read the following paragraph and answer the questions as directed -

In traditional India different castes formed a hierarchy of social precedence. Each position in the caste
structure was defined in terms of its purity or pollution relative to others. The underlying belief was that
those who are most pure, the Brahmin priestly castes, are superior to all others and the Panchamas,
sometimes called the ‘outcastes’ are inferior to all other castes. The traditional system is

generally conceptualised in terms of the four fold varna of Brahmins, Kshatriyas, Vaishyas and Shudras.
In reality there are innumerable occupation-based caste groups, called jatis.

Choose the correct option -

1 In traditional India different castes formed a of social precedence.

(a) order (b) place (c) hierarchy (d) place

2 Each position in the structure was defined in terms of its purity or pollution
relative to others.

(a) caste (b) class (c) big (d) small

3 Literal meaning of Varna is .

(a) object (b) open (c) colour (d) sad

4 Who was called ‘outcastes’?

(a) Brahmin (b) Kshatriya (c) Vaishya (d) Pancham

28A

e g AR AMET HE A HR 410 |
Differentiate between In-Groups and Out-Groups .

OR

28B

afa 3R FoF & 3rax Tam |

Differentiate between Caste and Class.

29

fa @ T Far wEea ¥ 2 41 REw vw gEt oRan # awr wwar ¢ ? Rouoh #5¥)

What do you understand by Marriage? Does marriage promises a happy family? Comment on this .




30 | Amierdt Y Sftaw & Rew wER A afE Pemh ¥ 2
What kind of role does kinship play in our lives?
31 | aiifas wegpfar @ 39 41 wHsa © ?
What do you understand by non-material culture?
32 | gepha S0 haw # wsnRia Feh § 2
How does culture affect life?
gus [d]
SECTION D
33A | ¥ digfaw ARt f a9 S Sahr FaAmerET i o 7 qfawr @ |
Discuss such intellectual ideas which played a role in the making of sociology.
OR
33B | gATSRNET 3R TSI RAe A @9y adqw |
State the relationship between sociology and political science.
34 | grfais fAIEOT @ 3T FAT ASS § ? FATOE RIF0T Y FAT HTEIFAT § ?
What do you understand by social control? What is the need of social control?
35

farafaf@a sqede #1 aRRT awr weat & W o -

Tfas Tt T PR AT & AFT & dean ¥ g1 gAfF FEgnt F1 gasa & & THeganw
Tgd Feeaqor &1 ¥ ufFa AR war | afFa safFadl a1 wgt gEnr gl F ARy Fa & araeg e
gToT T X A AAaT ¥ s8H FAVE ¥ F Od 9w afFd @t § 3w wa § wife g &
I AFd A AN Y P T A ARaT A A aRT AN ¥R AR g A Fawm ag ¥ @
@ & urw A gt qEY el H ve AfFa A1 W F ww AafFd quwar A gt @ afew 7w qEd
¥ wafta g B

AfFd i g HFUROT Fuve T A REqa § AR 7® NN & 781 F @ =t B Wy G &
T ¥ AR faIET A AT AT AR HFATHA AN FA aF FRAW & &I GaUF GanT
YeUF F F AERT FA ¥ AT 3T goll & FEFAT A ARG FE qT oA Aanet  aF
heT g3 B ATT HCATH B ReFed # AU TAC @A B ARF §1 Torelifcren g & Ieqed H
g ¥ frell aerw A Twres i 9fFT 31 9T A A AfFT a1 wag F 3w den aw afFa e @
& qEl A 3T FTBT T ITAT FE AT ¢ 39 3 A Teedfad s ar veefa #1 wER afed
a2l

1 afFa @ 3T FI1 FHAS § ?

2 afFd 1 9T AT B THR JA A - I g §T AW ¥ |

Read the following paragraph and answer the questions -

Political institutions are concerned with the distribution of power in society. Two concepts, which are
critical to the understanding of political institutions, are power and authority. Power is the ability of
individuals or groups to carry out their will even when opposed by others. It implies that those who hold
power do so at the cost of others. There is a fixed amount of power in a society and if some wield power
others do not. In other words, an individual or group does not hold power in isolation, they hold it in
relation to others.

This notion of power is fairly inclusive and extends from family elders assigning domestic duties to their
children to principals enforcing discipline in school; from the General Manager of a factory distributing
work among the executives to political leaders regulating programmes of their parties.

The principal has power to maintain discipline in school. The president of a political party possesses
power to expel a member from the party. In each case, an individual or group has power to the

extent to which others abide by their will. In this sense, political activities or politics is concerned with
‘power’.

1 What do you understand by power?

2 How do you see the power being used around you?







